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1975 83920.0 108712.8 59.5 || 1997 | 302014.4 345522.7 107.4
1976 | 94845.6 123540.9 65.3
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1: freq a;
2: smpl 1955 1997;



3: read(file=’cons99.txt’) year cons yd def;
4: rcons=cons/(def/100);

5: ryd=yd/(def/100) ;

6: smpl 1955 1997;

7: olsq rcons c ryd;

8 smpl 1956 1997;

9: dcons=rcons-(1.-.5*%@dw)*rcons(-1);

10: dyd=ryd-(1.-.5%@dw)*ryd(-1);

11: olsq dcons c dyd;

12:
13
14
15
16
17
18

smpl 1956 1997;

: olsq rcons ryd rcomns(-1);

: dcons=rcons-(1.-.5%@dw)*rcons(-1);
: dyd=ryd-(1.-.5%@dw)*ryd(-1);

: smpl 1957 1997;

: olsq dcons dyd dcons(-1);

: end;
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00 13000(4) 00 17000000000000
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